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TNPSC GROUP I test batch – 2020 

TEST v – UNIT VI INDIAn ECONOMY 
 

1. Who said that the “capital consists of those kinds of wealth other than free gifts of nature, 
which yield income”? 
a. Amartiyasen  b. Adamsmith c. Alfred Marshall  d. J.M. Keynes 
“,aw;ifapd; nfhil jtpu;j;j tUkhdk; mspf;ff; $ba gpwtifr; nry;tq;fNs %yjdk;” 
– vd;wtu;. 
a. mku;j;jpahnrd;  b. Mlk;];kpj;  c. My;gpul; khu;~y;  d. J.M. fPd;]; 
  

2. Characteristics of Entrepreneur include. 
i. Deciding the location of production unit. 
ii. Making innovations 
iii. Taking risks and facing uncertainties 
a. i, ii   b. ii, iii  c. i, iii  d. all the above 
njhopy; KidNthupd; rpwg;gpay;Gfs; vit? 
i. cw;gj;jp myfpd; ,Ug;gplj;ijj; jPu;khdpj;jy;. 
ii. GJikfis cUthf;Fjy;. 
iii. ,lu;fis Vw;wy; kw;Wk; epr;rakw;w jd;ikia vjpu;nfhs;sy;. 
a. i, ii   b. ii, iii  c. i, iii  d. Nkw;$wpa midj;Jk; 

 
3. Who had defined the “tax as a compulsory contribution from a person to the government 

to defray the expenses incurred in the common interest of all without reference to special 
benefits conferred”? 
a. Prof. Seligman   b. P.C. Mahalanobis 
c. Gunnar Myrdal   d. V.K.R. Varadaraja Rao 
“tupfs; vd;git> xUtu; muRf;F nrYj;j Ntz;ba fl;lhag;gq;fspg;G> ,jpy; ngwg;gl;l 
rpwg;Gr; rYiffs; Fwpg;gplg;gltpy;iy> muR Nkw;nfhs;Sk; nryTfs; 
fl;Lg;gLj;jg;gLfpd;wd” vd;wtu;? 
a. Nguhrpupau; Nrypf;kd;  b. P.C. nkfyNdhgp]; 
c. Fd;du; kpu;jhy;   d. V.K.R. tujh[ uht; 
 

4. Which of the following is/are direct taxes? 
i. Wealth tax  ii. Capital gains tax 
iii. Corporate tax iv. Value added tax 
a. i, ii, iii  b. ii, iii, iv  c. i, ii, iv  d. all the above 
gpd;tUtdtw;Ws; Neu;Kf tupfs; vit? 
i. nry;t tup  ii. %yjd Mjhatup 
iii. epWtd tup iv. kjpg;G $l;Ltup 
a. i, ii, iii  b. ii, iii, iv  c. i, ii, iv  d. Nkw;fz;l midj;Jk; 
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5. Choose the correct statements about GST. 
i. It came into Force on 1st July, 2017 
ii. Motto: ONE TAX, ONE MARKET AND ONE NATION. 
iii. It is transparent tax. 
iv. It is divided into four slabs. 
a. i, ii, iii  b. ii, iii, iv  c. i, ii, iv  d. all the above 
GST gw;wp rhpahd $w;wpidj; Njh;T nra;f 
i. 1 [{iy 2017 - ,y; eilKiwf;F te;jJ 
ii. fUj;JU: xUthp> xU re;ij xU Njrk; 
iii. ,J xU ntspg;gilahd thp 
iv. ,J ehd;F mLf;Ffshfg; gphpf;fg;gl;Ls;sJ 
a. i, ii, iii  b. ii, iii, iv  c. i, ii, iv  d. ,it midj;Jk; 

 
6. Who said that “Learning gives creativity, creativity leads to thinking, thinking provides 

knowledge, knowledge make you great”? 
a. Jawaharlal Nehru  b. B.R. Ambedkar 
c. Periyar   d. Dr. A.P.J. Abdul Kalam 
“fw;wy; gilg;ghw;wiy Vw;gLj;Jk;> gilg;ghw;wy; rpe;jidiaj; J}z;Lk;> rpe;jid 
mwpthw;wiy mspf;Fk;> mwpthw;wy; cq;fis rpwe;jtuhf;Fk;” vd;wtu;? 
a. [t`u;yhy; NeU  b. B.R. mk;Ngj;fu; 
c. ngupahu;   d. lhf;lu; A.P.J. mg;Jy; fyhk; 

 
7. Consider the following statements. 

I. The value of money is directly proportional to the price level. 
II. Internal value of money refers to the purchasing power of money over domestic 

goods and services. 
III. The external value of money refers to the purchasing power of money over foreign 

goods and services. 
a. I, II are correct  b. I only is incorrect 
c. I, II III are correct  d. II, III are incorrect 
gpd;tUk; $w;Wfis Muha;f. 
I. gzj;jpd; kjpg;Gk; tpiyapd; msTk; Neu;kiwj; njhlu;GilaJ. 
II. gzj;jpd; mfkjpg;G vd;gJ cs;ehl;bYs;s gz;lkw;Wk; gzpfspd; thq;Fk; rf;jpiaf; 

Fwpf;Fk;. 
III. gzj;jpd; Gwkjpg;G vd;gJ ntsp ehl;bYs;s gz;l kw;Wk; gzpfis thq;Fk; 

rf;jpiaf; Fwpf;Fk;. 
a. I, II rup   b. I kl;Lk; jtW 
c. I, II, III rhp   d. II, III jtW 

 
8. Which of the following is/are correct? 

i. The Indian Rupee symbol was designed by Mr. Udayakumar. 
ii. It was approved by Government of India on 15-June, 2010. 
a. i, ii   b. i   c. ii  d. none 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. ,e;jpa &gha; FwpaPl;bid tbtikj;jtu; cjaFkhu;. 
ii. ,J [_d; 15-2010 md;W ,e;jpa murhy; mq;fPfupf;fg;gl;lJ. 
a. i, ii   b. i   c. ii  d. VJkpy;iy 
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9. Which of the following is wrongly matched? 
i. Prevention of money laundering act – 2003. 
ii. Prevention of corruption act – 1988. 
iii. The Real estate (Regulation and Development) act, - 2015 
iv. The undisclosed foreign income and Asset Bill – 2015. 
a. i   b. i, iii  c. iii  d. ii 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. gzNkhrb eltbf;if jLg;Gr; rl;lk; - 2003 
ii. Coy; jLg;Gr;rl;lk; - 1988 
iii. hpay; v];Nll; (xOq;FKiw kw;Wk; Nkk;ghL) rl;lk; - 2015> 
iv. ntspf;nfhzug;glhj ntspehl;L tUkhdk; kw;Wk; nrhj;J kNrhjh – 2015. 
a. i   b. i, iii  c. iii  d. ii 

 
10. The Government announced the “National Health Production Scheme” in the budget year 

of ____. 
a. 2016-2017  b. 2017-2018  c. 2018-2019  d. 2019-2020  
Njrpa Rfhjhu cw;gj;jp jpl;lj;ij murhq;fk; ______ gl;n[l;by; mwptpj;jJ 
a. 2016-2017  b. 2017-2018  c. 2018-2019  d. 2019-2020  

 
11. Which of the following is/are not Maharatna industry? 

i. National Thermal Power Corporation 
ii. Oil and Natural Gas Commission. 
iii. Neyveli Lignite Corporation. 
a. i  b. ii  c. ii, iii  d. iii 
gpd;tUtdtw;Ws; kfhuj;dh njhopw;rhiy my;yhjJ? 
i. Njrpa mdy;kpd; fofk; 
ii. vz;nza; kw;Wk; ,aw;if vupthA Mizak; 
iii. nea;Ntyp gOg;G epyf;fup epWtdk; 
a. i  b. ii  c. ii, iii  d. iii 

 
12. Choose the correct statements about National Food Security Act is/are correct? 

i. It was passed by Indian parliament in 2013. 
ii. It covers 60% of Urban households. 
iii. It covers 75% of the rural households. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
gpd;tUk; $w;Wfspy; Njrpa czTg;ghJfhg;Gr; rl;lk; gw;wp rhpahdit vit? 
i. ,r;rl;lk; 2013-,y; ,e;jpag; ghuhSkd;wj;jhy; epiwNtw;wg;gl;lJ 
ii. ,r;rl;lk; 60% efh;g;Gwf; FLk;gq;fis cs;slf;fpaJ 
iii. ,J 75% fpuhkg;Gwf; FLk;gq;fis cs;slf;fpaJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 

 
13. Which of the following statements about new Agricultural policy is/are correct? 

i. It was announced in 2017 by the central government. 
ii. It removed export restrictions on most organic and processed agricultural products. 
a. i, ii   b. i only  c. ii only   d. none 
gpd;tUtdtw;Ws; Gjpa tptrhaf; nfhs;if Fwpj;j $w;Wfspy; rupahdit vit? 
i. ,J 2017 Mk; Mz;L kj;jpa murpdhy; mwptpf;fg;gl;lJ. 
ii. ,e;jf; nfhs;if ngUk;ghyhd fupk kw;Wk; tptrhag;nghUl;fspd; Vw;Wkjpf; 

fl;Lg;ghLfis ePf;f mwptpj;jJ. 
a. i, ii   b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 
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14. According to Multi-dimensional poverty Index 2018 Report in Tamilnadu. Which of the 
following is/are incorrect? 
1. First Rank – Chennai 
2. Second Rank – Kancheepuram 
3. 31st Rank – Perambalur 
4. 32nd Rank – Dharmapuri 
a. 1, 2   b. 1, 3   c. 3, 4   d. 2, 4 
jkpo;ehl;bd; gy ghpkhz tWik FwpaPL mwpf;if 2018,d; gb jtwhdit vit? 
1. Kjyplk;  - nrd;id 
2. ,uz;lhkplk;  - fhQ;rpGuk; 
3. 31tJ ,lk; - nguk;gY}h; 
4. 32tJ ,lk; - jh;kGhp 
a. 1, 2   b. 1, 3   c. 3, 4   d. 2, 4 

 
15. Tamilnadu leads in poverty alleviation programmes during ____. 

a. 2005-2010  b. 2011-2014  c. 2014-2017  d. 2015-2018 
jkpo;ehL ___ tiuapyhd fhyq;fspy; tWik xopg;Gj; jpl;lq;fspy; Kd;dpiy tfpf;fpwJ. 
a. 2005-2010  b. 2011-2014  c. 2014-2017  d. 2015-2018 

 
16. Rs. ____ Financial assistance was provided under Dr. Muthulakshmi Reddy Maternity 

Benefit scheme to poor pregnant women: 
a. Rs. 12000  b. Rs. 8000  c. Rs. 15000  d. Rs. 18000 
lhf;lu; Kj;Jyl;Rkp nul;b kfg;NgW eyj; jpl;lj;jpd; fPo;> Vio fu;gpzpg; ngz;fSf;F &. 
_____ epjpAjtp toq;fg;gLfpwJ. 
a. &. 12>000  b. &. 8000  c. &. 15>000  d. &. 18>000 

 
17. Consider the following statements. 

I. The government of Tamilnadu’s successive budget outlays for nutrition and health 
are the highest in the country. 

II. “A Malnutrition Free Tamilnadu” scheme guides the state’s long-term multi-sectoral 
strategy for eliminating malnutrition. 

a. I, II are correct  b. I is correct 
c. II is correct   d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f 
I. Cl;lr;rj;J kw;Wk; MNuhf;fpaj;jpw;fhd jkpof murpd; mLj;jLj;j tuT nryTj;jpl;l 

nrytpdq;fs; ehl;bNyNa kpf mjpfk; 
II. ‘Cl;lr;rj;Jf; FiwghL ,y;yhj jkpo;ehL’ vd;w jkpo;ehl;bd; nfhs;if> Cl;lr;rj;Jf; 

Fiwghl;il mfw;Wtjw;fhf khepyj;jpd; ePz;lfhy Jiwf; nfhs;iffis 
nray;gLj;JfpwJ 

a. I, II rhp  b. I rhp c. II rhp  d. I, II jtW 
 
18. Consider the following 

Assertion (A): In India, Income tax was introduced for the first time in  
   1860 by Sir James Wilson. 
Reason (R): It was introduced to meet the losses sustained by the Government on account 
of the mutiny of 1857. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
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gpd;tUtdtw;iw Ma;f. 
$w;W (A):  ,e;jpahtpy; Kjd;Kjyhf tUkhdtup> 1860Mk; Mz;L ru;  
   N[k;]; tpy;rd; vd;gtuhy; mwpKfg;gLj;jg;gl;lJ. 
fhuzk; (R): 1857-Mk; Mz;L fyfj;jpd; %yk; Vw;gl;l ,og;Gfis  
 <Lfl;l murhq;fj;jpd; %yk; Nghlg;gl;l MizNa ,t;tup tpjpg;G. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 

 
19. Match the following sector with the respective percentage of expenditure of the central 

government 
Sector     Contribution (%) 
A. Central Sector Schemes  1. 12% 
B. Centrally Sponsored   2. 9% 
C. Defence    3. 5% 
D. Pensions    4. 8% 
 A B C D 
a. 1 2 3 4 
b.  1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
gpd;tUk; kj;jpa murpd; Jiwfis mtw;wpd; nrytpd rjtPjj;Jld; nghUj;Jf. 
Jiw     gq;fspg;G (%) 
A. kj;jpaj;Jiw jpl;lq;fs;  1. 12% 
B. kj;jpa epjpAjtp jpl;lq;fs; 2. 9% 
C. ghJfhg;G    3. 5% 
D. Xa;T+jpak;    4. 8% 
 A B C D 
a. 1 2 3 4 
b.  1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 

 
20. Which of the following is wrongly matched? 

Progressive tax - Income tax 
Proportional tax - Corporate tax 
Regressive tax - Sales tax 
a. i   b. ii, iii  c. i, iii  d. none 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
tsu;tPj tup  - tUkhd tup 
tpfpj tup  - epWtd tup 
Nja;TtPj tup  - tpw;gid tup 
a. i   b. ii, iii  c. i, iii  d. VJkpy;iy 

 
21. At present which of the following state in India has the largest number of factories? 

a. Gujarath  b. Andhra Pradesh  c. Tamilnadu  d. Telangana 
gpd;tUk; ve;j ,e;jpa khepyj;jpy; jw;NghJ mjpf vz;zpf;ifapyhd njhopw;rhiyfs; 
cs;sd? 
a. F[uhj;  b. Me;jpugpuNjrk;  c. jkpo;ehL  d. njYq;fhdh 
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22. Consider the following statements. 
Assertion (A): Coimbatore is referred as the “Manchester of South India”. 
Reason (R): Coimbatore is the largest producer of cotton in India. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
gpd;tUtdtw;iw Muha;f. 
$w;W(A):Nfhak;Gj;J}u; “njd;dpe;jpahtpd; khd;nr];lu;” vd miof;fg;gLfpwJ. 
fhuzk; (R): Nfhak;Gj;J}u; ,e;jpahtpNyNa kpf mjpf mstpy; gUj;jp  
   cw;gj;jp nra;fpd;wJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y. 

 
23. India contributed ___ of total world’s GDP in exchange rate basis. 

a. 1.21%  b. 2.33%  c. 2.99%  d. 2.30% 
ehza khw;W tPjj;jpd; mbg;gilapy; cyf nkhj;j GDP kjpg;gpy; ,e;jpahtpd; gq;F ____. 
a. 1.21%  b. 2.33%  c. 2.99%  d. 2.30% 

 
24. The Pradhan Mantri Fasal Bima Yojana was launched on ___. 

a. 12 January 2015   b. 18 February 2016 
c. 22 April 2016   d. 13 February 2017 
gpujk ke;jpup gapu; fhg;gPl;Lj;jpl;lk; (gry; gPk Nah[dh) njhlq;fg;gl;l ehs; ____. 
a. 12 [dtup 2015   b. 18 gpg;utup 2016 
c. 22 Vg;uy; 2016   d. 13 gpg;utup 2016 

 
25. Consider the following statements. 

I. The special economic zones policy was announced in April 2001. 
II. The special Economic Zones Act was enacted in 2005. 
a. I, II are correct  b. I is correct 
c. II is correct   d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 
I. rpwg;Gg; nghUshjhu kz;lyf;nfhs;if Vg;uy; 2001-,y; cUthf;fg;gl;lJ. 
II. rpwg;Gg; nghUshjhu kz;lyr;rl;lk; 2005-,y; ,aw;wg;gl;lJ. 
a. I, II rup  b. I rup   c. II rup   d. I, II jtW 

 
26. Match the following 

Schemes    Year of launch 
A. 20 point programme  1. 1975 
B. IRDP    2. 1977 
C. TRYSEM    3. 1979 
D. Food for work programme 4. 1976 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 1 2 4 3 
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nghUj;Jf. 
jpl;lq;fs;    njhlq;fpa Mz;L 
A. 20 mk;r jpl;lk;   1. 1975 
B. IRDP     2. 1977 
C. TRYSEM    3. 1979 
D. Ntiyf;F czT jpl;lk; 4. 1976 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 1 2 4 3 

 
27. Which of the following is/are wrongly matched? 

Schemes     Year of launch 
PMAGSY    - 2010 
Bharat Nirman Yojana  - 2005 
Indira Awas Yojana   - 2009 
JNNURM    - 2005 
a. i  b. ii, iii  c. iii  d. iv 
gpd;tUtdtw;wpy; jtwhf nghUe;jpait? 
jpl;lq;fs;    njhlq;fpa Mz;L 
PMAGSY    - 2010 
ghuj; epu;khd; Nah[dh  - 2005 
,e;jpuh Mth]; Nah[dh  - 2009 
JNNURM    -  2005 
a. i  b. ii, iii  c. iii  d. iv 

 
28. Which of the following statements about Regional Rural Bank is/are correct? 

i. RRB came into existence based on the recommendations made by the working group 
on rural banks appointed by Government of India in 1975. 

ii. RRBs are setup by the joint efforts of the RBI and commercial banks. 
iii. At present, there are 64 RRBs in India. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
gpd;tUk; $w;Wfspy; tl;lhu Cuf tq;fpfs; gw;wp rupahdit? 
i. ,e;jpa murhq;fk; 1975k; Mz;L Cuf tq;fpfspd; nray;ghLfs; Fwpj;J Muha> Cuf 

tq;fpfspy; mikf;fg;gl;l FOtpd; gupe;Jiug;gb ,t;tq;fpfs; nray;gLj;jg;gl;ld. 
ii. tl;lhu Cuf tq;fpfs; upru;t; tq;fp kw;Wk; tzpftq;fpfspd; $l;L Kaw;rpahy; 

cUthf;fg;gl;lJ. 
iii. ,e;jpahtpy; jw;NghJ 64 tl;lhu Cuf tq;fpfs; cs;sd. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 

 
29. Which of the following is/are not the examples of socialistic economy? 

i. Russia  ii. Cuba  iii. China   iv. America 
v. Vietnam  vi. Poland  vii. Australia  
a. i, iii  b. iv, vii  c. iv, vi  d. iii, iv, vii 
gpd;tUtdtw;wpy; rkj;Jt nghUshjhuj;jpw;F cjhuzk; my;yhjit? 
i. u~;ah  ii. fpA+gh  iii. rPdh   iv. mnkupf;fh 
v. tpal;ehk;  vi. Nghye;J  vii. M];jpNuypah 
a. i, iii  b. iv, vii  c. iv, vi  d. iii, iv, vii 
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30. The concept of national income was first introduced by 
a. J.M. Keynes   b. Samuelson 
c. Simon Kuznets   d. Fisher 
Njrpa tUtha; vDk; fUj;JUit Kjypy; mwpKfg;gLj;jpatu; _____. 
a. J.M. fPd;];    b. rhKNty;rd; 
c. irkd; F];nel;];   d. gp~u; 

 
31. Which of the following statements is/are incorrect? 

i. Per capita income = National income / population 
ii. Real income is the buying power of the nominal income. 
iii. National income is the Final Value of goods and Services Produced and expressed in 

terms of money at Market prices. 
a. i only  b. ii and iii only  c. iii only  d. none 
gpd;tUk; $w;Wfspy; jtwhdit vit? 

i. jyhtUkhdk; = 
Njrpa tUkhdk;

kf; fs; njhif
 

ii. cz;ik tUkhdk; vd;gJ thq;Fk; rf;jpf;fhd ngausT tUkhdk; MFk;. 
iii. Njrpa tUtha; vd;gJ xU Mz;by; cw;gj;jp nra;ag;gl;l KbTw;w gz;lq;fs; kw;Wk; 

gzpfspd; nkhj;j gzkjpg;ig re;ij tpiyapy;; kjpg;gpLtjhFk;. 
a. i kl;Lk;  b. ii kw;Wk; iii kl;Lk;  c. iii kl;Lk;  d. VJkpy;iy 

 
32. Which of the following is/are incorrect? 

i. Market price = Factor cost + Indirect taxes – Subsidies 
ii. Net Indirect Taxes = Indirect tax – Subsidies 
iii. Gross Value Added = Value of output + Intermediate consumption 
iv. Value of output = Sales (-) Change in stock 
v. Change in stock = Closing stock (-) Opening stock 
a. i, ii   b. ii, iii  c. iii, iv  d. iv, v 
gpd;tUtdtw;Ws; jtwhd $w;wpidj; Nju;e;njL. 
i. re;ij tpiy = fhuzpnryT + kiwKftup 
ii. epfu kiwKftupfs; = kiwKftup – cjtpj;njhiffs; 
iii. nkhj;j kjpg;G $l;ly; = cw;gj;jpapd; kjpg;G + ,ilepiy Efu;T 
iv. cw;gj;jpapd; kjpg;G = tpw;gid - ,Ug;gpy; khw;wk;  
v. ,Ug;gpy; khw;wk; = KbAk; ,Ug;G – njhlf;f ,Ug;G 
a. i, ii   b. ii, iii  c. iii, iv  d. iv, v 

 
33. Which of the following statements about alternative measures of money supply is/are 

correct? 
i. M1 = Currency, coins and demand deposits. 
ii. M2 = M1 + Time deposits of all commercial and cooperative banks. 
iii. M3 = M2 + Savings deposits with post office saving bank. 
iv. M4 = M3 + Total deposits with post offices. 
a. i and ii  b. iii and iv  c. i and iv  d. all the above 
gpd;tUk; $w;Wfspy; gzmstPLfs; gw;wpa rupahd $w;Wfs; vit? 
i. M1 =  fhfpjg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 
ii. M3 = M1 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s fhy itg;Gfs;. 
iii. M3 = M2 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 
iv. M4 = M3 + mQ;ryfj;jpYs;s midj;J itg;Gfs;. 
a. i kw;Wk; ii  b. iii kw;Wk; iv  c. i kw;Wk; iv  d. Nkw;$wpa midj;Jk; 
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34. Consider the following statements: 
I. Hyperinflation points out to unmanageably high inflation rates that run into two or 

three digits. 
II. The first hyperinflation of the 21st century results from Zimbabwe with 3714% at the 

end of April 2007.  
III. Running inflation is also known as trolling inflation  
a. I, II only correct    b. I, III only correct  
c. II, III are incorrect   d. All are correct 
gpd;tUk; $w;Wfis Muha;f. 
I. cau; gztPf;fk; vd;gJ rkhspf;f Kbahj mstpw;F ,uz;L my;yJ %d;W ,yf;f 

rjtpfpjj;jpy; cs;s gztPf;fk;. 
II. 21-k; E}w;whz;bd; Kjy; cau; gztPf;fk; [pk;ghk;Nt ehl;by; Mz;bw;F 3714% Mf 

Vg;uy; 2007 ,Wjpapy; cau;e;jJ. 
III. XLk; gztPf;fk; efUk; gztPf;fk; vd;Wk; miof;fg;gLfpd;wJ. 
a. I, II rup  b. I, III rup  c. II, III rup  d. midj;Jk; rup 

 
35. Disposable income may increase with  

i. Rise in national income  
ii. Reduction in taxes  
iii. Rise in the saving of the people 
a. (i) and (ii) only   b. (ii) and (iii) only  
c. (i) and (iii) only   d. (i), (ii) and (iii) 
nrytplj; jFe;j tUtha; vjDld; cau;fpwJ.  
i. Njrpa tUtha; mjpfupg;G  ii. tuptpfpj Fiwg;G 
iii. kf;fspd; Nrkpg;G mjpfupj;jy; 
a. i kw;Wk; ii kl;Lk;   b. ii kw;Wk; iii kl;Lk; 
c. i kw;Wk; iii kl;Lk;   d. i, ii kw;Wk; iii 

 
36. The Quantitative credit control measure of RBI is  

a. Bank Rate     b. Open market operations  
c. variable cash reserve Ratio d. All the above  
RBI-d; fld; msTf; fl;Lg;ghl;L Kiwfs; 
a. tq;fp tpfpjf; nfhs;if 
b. ntspr;re;ij eltbf;iffs; 
c. khWk; Fiwe;jgl;r tq;fp nuhf;f ,Ug;G tpfpjk; 
d. Nkw;$wpa midj;Jk; 

 
37. Consider the following statements about 20 points programme. 

I. It was implemented by Mrs. Indira Gandhi during the emergency period. 
II. It provide institutional credit to farmers and artisans in rural areas. 
III. Regional Rural Banks were established in 1976. 
a. I, II are correct   b. I, III are correct 
c. II, III are correct   d. I, II and III are correct 
20 mk;rjpl;lk; Fwpj;j $w;Wfis Muha;f. 
I. ,J Kd;dhs; gpujku; ,e;jpuhfhe;jpahy; mtruepiyfhy fl;lj;jpy; mky;gLj;jg;gl;lJ. 
II. fpuhkg;Gwq;fspy; trpf;Fk; tptrhapfs; kw;Wk; iftpidQh;fSf;F fld; toq;FfpwJ. 
III. 1976-Mk; Mz;L tl;lhu Cuf tq;fpfs; epWtg;gl;ld. 
a. I, II rup  b. I, III rup  c. II, III rup  d. I, II, III rup 
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38. Which of the following organization was established with the primary objective of creating 
an apex institution to coordinate the activities of other financial institutions including bank? 
a. IFCI   b. ICICI  c. IDBI  d. SIDCO 
tq;fpfs; cs;spl;l njhopw;fld;fs; toq;Fk; gy;NtW epWtdq;fis xUq;fpizf;Fk; xU 
jiyik epWtdk; cUthf;fg;gl Ntz;Lk; vd;w Kjd;ik Nehf;fj;jpd; mbg;gilapy; 
Jtq;fg;gl;lJ? 
a. IFCI   b. ICICI  c. IDBI  d. SIDCO 

 
39. The minimum amount for RTGs Transfer is ____. 

a. ` 1 lakh  b. ` 2 lakhs  c. ` 3 lakhs  d. ` 5 lakhs 
RTGs Kiwapy; Fiwe;jgl;r guptu;j;jid njhif ____. 
a. ` 1 ,yl;rk; b. ` 2 ,yl;rk; c. ` 3 ,yl;rk; d. ` 5 ,yl;rk; 

 
40. Which of the following statements about IMF is/are incorrect? 

i. It created special Drawing Rights in 1967. 
ii. At present IMF has 189 member countries. 
iii. The Republic of Nauru joined in IMF in 2016. 
a. i only  b. i and iii  c. ii only   d. none 
gpd;tUk; $w;Wfspy; IMF Fwpj;J jtwhdit vit? 
i. ,J 1967-,y; rpwg;G vLg;Gupikia Vw;gLj;jpaJ. 
ii. jw;NghJ 189 cWg;G ehLfs; cs;sd. 
iii. 2016-,y; et;U FbauR cWg;gpduhdJ. 
a. i kl;Lk;  b. i kw;Wk; ii  c. ii kl;Lk;  d. VJkpy;iy 

 
41. Choose the correct statements about ASEAN? 

i. It was established on 8 August 1967. 
ii. It has 12 member countries. 
iii. Foreign Trade is the life blood of the ASEAN countries. 
iv. It’s meeting are held once in three years. 
a. i and ii  b. iii and iv  c. i, iii and iv  d. ii, iii and iv 
ASEAN mikg;G Fwpj;j rupahd $w;wpidj; Nju;e;njL> 
i. Mf];l; 8> 1967-,y; epWtg;gl;lJ. 
ii. 12 cWg;G ehLfisf; nfhz;Ls;sJ. 
iii. gd;dhl;L thzpgk; capu; %r;R Nghd;wJ. 
iv. ,J %d;W Mz;LfSf;nfhUKiw $LfpwJ. 
a. i kw;Wk; ii  b. iii kw;Wk; iv  c. i, ii kw;Wk; iv d. ii, iii kw;Wk; iv 

 
42. Which of the following statements is/are correct? 

i. GST is levied at the point of consumption. 
ii. Sales tax was multipoint tax with cascading effect. 
iii. VAT was multipoint tax with cascading effect. 
iv. GST is one point tax without cascading effect. 
a. i and ii  b. iii and iv  c. i, ii and iv  d. i, ii, iii and iv 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. GST tup Efu;tpd;NghJ tpjpf;fg;gLfpwJ. 
ii. tpw;gid tupahdJ mbj;js tpisTila gy;Kid tup. 
iii. VAT vdg;gLtJ mbj;js tpisTila gy;Kid tup. 
iv. GST vd;gJ mbj;js tpistpy;yhj xUKidtup. 
a. i kw;Wk; ii  b. iii kw;Wk; iv  c. i, ii kw;Wk; iv d. i, ii, iii kw;Wk; iv 
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43. The method of sinking fund was first introduced by 
a. Friedrich August Von Hayek  b. J.M. Keynes 
c. Lawrence Robert Klein   d. Walpol 
%o;Fk; epjpia Kjd;Kjypy; mwpKfk; nra;jtu; ___. 
a. gpul;upf; mf];l; thd; N`af;  b. J.M. fPd;]; 
c. yhud;]; uhgh;l; fpspd;   d. thy;Nghy; 

 
44. Which of the following is correctly matched? 

i. Article 112: Annual Financial Statement of Union Government. 
ii. Article 116: Definition of money bill. 
iii. Article 202: Annual Financial Statement of State Government. 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpait? 
i. tpjp 112 – kj;jpa murpd; tUlhe;jpu epjp mwpf;if. 
ii. tpjp 116 – gzkNrhjhtpw;fhd epjp mwpf;if. 
iii. tpjp 202 – khepy murpd; tUlhe;jpu epjp mwpf;if 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 

 
45. Identify the incorrect definition. 

a. Budget Deficit = Total Expenditure – Total Revenue. 
b. Fiscal Deficit = Budget deficit + Government’s market borrowings and liabilities. 
c. Primary Deficit = Fiscal Deficit + Interest payments 
d. Revenue Deficit = Total Revenue Expenditure – Total Revenue Receipts 
jtwhd tiuaiwiaj; Nju;e;njL. 
a. tuT nryT jpl;l gw;whf;Fiw = nkhj;j nryT – nkhj;j tuT 
b. epjpg;gw;whf;Fiw = tuT nryT jpl;l gw;whf;Fiw + murpd; mq;fhbf; fld;fSk; Vida 

nghWg;Gf;fSk; 
c. Kjd;ikg;gw;whf;Fiw = epjpg;gw;whf;Fiw + tl;b nrYj;Jjy; 
d. tUtha; gw;whf;Fiw = nkhj;j tUtha; nrytpdk; - nkhj;j tUtha; tuTfs; 

 
46. Consider the following statements. 

I. The 14th Finance commission was setup in 2014. 
II. The 15th Finance commission has been setup in November 2017. 
III. The recommendations of 15th finance commission will be implemented from 1st April 

2020. 
a. I, II are correct   b. I, III are correct 
c. II, III are correct   d. All are correct 
gpd;tUk; $w;Wfis Muha;f. 
I. 14-tJ epjpf;FO 2014-,y; mikf;fg;gl;lJ. 
II. 15-tJ epjpf;FO 2017- etk;gupy; mikf;fg;gl;lJ. 
III. 15-tJ epjpf;FOtpd; gupe;Jiufs; 1 Vg;uy; 2020 Kjy; nray;gLj;jg;gLk;. 
a. I, II rup  b. I, III rup  c. II, III rup d. Nkw;fz;l midj;Jk; rup 

 
47. Match the following 

Finance Commission  Chairman 
A. Eighth    1. N.K.P. Salve 
B. Ninth    2. A.M. Khusro 
C. Tenth    3. K.C. Pant 
D. Eleventh    4. Y.B. Chavan 
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 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
c. 2 4 3 1 
d. 2 1 3 4 
nghUj;Jf. 
epjpf;FO   jiytu; 
A. vl;lhtJ   1. N.K.P. rhy;Nt 
B. xd;gjhtJ   2. A.M. F];Nuh 
C. gj;jhtJ   3. K.C. ge;j; 
D. gjpndhwhtJ  4. Y.B. rthd; 
 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
c. 2 4 3 1 
d. 2 1 3 4 

 
48. The protection of the Environmental Operations Act was enacted in ___. 

a. 1972  b. 1980  c. 1982  d. 1997 
Rw;Wr;#oy; nray;ghLfspd; ghJfhg;G rl;lk; ,aw;wg;gl;l Mz;Lk; ____. 
a. 1972  b. 1980  c. 1982  d. 1997 

 
49. Match the following 

A. SDG 10 - 1. Life below water 
B. SDG 13 - 2. Reduced inequalities 
C. SDG 14 - 3. Life on Land 
D. SDG 15 - 4. Climate action 
 A B C D 
a. 1 3 4 2 
b. 2 4 3 1 
c. 2 4 1 3 
d.  3 1 2 4 
nghUj;Jf. 
A. SDG 10 - 1. ePUf;fbapy; tho;f;if 
B. SDG 13 - 2. Vw;wj;jho;T Fiwg;G 
C. SDG 14 - 3. epyg;gFjpapy; tho;f;if 
D. SDG 15 - 4. jl;gntg;gepiy eltbf;if 
 A B C D 
a. 1 3 4 2 
b. 2 4 3 1 
c. 2 4 1 3 
d.  3 1 2 4 

 
50. The first five year plan was launched on ___ 

a. January 1, 1950   b. January 1, 1951 
c. April 1, 1950   d. April 1, 1951 
Kjy; Ie;jhz;L jpl;lk; eilKiwf;F te;j ehs; ____. 
a. [dtup 1> 1950   b. [dtup 1> 1951 
c. Vg;uy; 1> 1950   d. Vg;uy; 1> 1951   
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51. Match the following. 
A. Gandhian plan  1. S.N. Agarwal 
B. People’s plan  2. J.P. Narayan 
C. Sarvodya plan  3. M.N. Roy 
 A B C  
a. 1 2 3 
b. 2 3 1 
c. 1 3 2 
d. 3 1 2 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. S.N. mfu;thy; 
B. kf;fs; jpl;lk;  2. J.P. ehuhaz; 
C. ru;Nthjpahjpl;lk;  3. M.N. uha; 
 A B C  
a. 1 2 3 
b. 2 3 1 
c. 1 3 2 
d. 3 1 2 

 
52. Choose the correctly matched pairs. 

i. Long term plan - > 10 years 
ii. Medium term plan - > 7 years 
iii. Short term plan - 1 year 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 
rupahd ,iziaj; Nju;e;njL. 
i. ePz;lfhy jpl;lk; - > 10 Mz;Lfs; 
ii. eLj;jufhy jpl;lk; - > 7 Mz;Lfs; 
iii. FWfpafhy jpl;lk; - 1 Mz;L 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii 

 
53. Which of the following statements about P.C. Mahalanobis is/are correct? 

i. He is known as the father of modern statistics and also as father of statistics in India. 
ii. Since 2007 29th of June every year is celebrated as statistics day to commemorate his 

birth anniversary. 
a. i, ii   b. i only  c. ii only  d. none 
P.C. k`yNehgp]; gw;wpa rupahd $w;Wfs; vit? 
i. etPd Gs;spaypd; epWtdu; kw;Wk; ,e;jpa Gs;spaypd; je;ij vd;wiof;fg;gLfpwhu;. 
ii. 2007-ypUe;J ,tupd; gpwe;j ehshd [_d; 29 Gs;spay; ehshff; nfhz;lhlg;gLfpd;wJ. 
a. i, ii   b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 

 
54. Who is the first person developed mathematical equation in the quantity theory of money 

with the help of data? 
a. Karl Pearson  b. Irving Fisher 
c. Francis Galton  d. Ronald Fisher 
Kjd;Kjypy; gz msTf; Nfhl;ghl;Lr; rkd; ghl;bid Gs;sptptuq;fSld; tpsf;fpatu;? 
a. fhu;y; gpau;rd;  b. ,u;tpq; gp~u; 
c. gpuhd;]p]; fhy;ld; d. nuhdhy;L gp~u; 
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55. Which of the following statements about NSSO is/are correct? 
i. It is the largest organization in India, conducting regular socio-economic surveys. 
ii. It was established in 1950. 
iii. It has three divisions. 
a. i, ii   b. i, iii  c. ii, iii  . i, ii, iii 
Njrpa khjpup $nwLg;G tprhuiz mYtyfk; gw;wp rupahd $w;Wfs; vit? 
i. ,J r%f-nghUshjhu Gs;sptptu tprhuizfis Nkw;nfhs;Sk; ,e;jpahtpd; 

kpfg;ngupa mikg;G 
ii. 1950-y; epWtg;gl;lJ. 
iii. %d;W gpupTfs; nfhz;lJ. 
a. i, ii   b. i, iii  c. ii, iii  . i, ii, iii 

 
56. Arrange the states in literacy rate % in ascending order (2011 census) 

i. Gujarat  ii. Karnataka  iii. Tamil Nadu iv. Andhra Pradesh 
a. i, iii, ii, iv  b. i, iv, iii, ii  c. iv, ii, iii, i  d. iv, ii, i, iii 
khepyq;fspd; vOj;jwpT tpfpjj;ij % (2011 fzf;nfLg;gpd;gb) VWthpirapy; mikf;fTk;  
i. F[uhj;   ii. fh;ehlfh  iii. jkpo;ehL  iv. Me;jpug;gpuNjrk;  
a. i, iii, ii, iv  b. i, iv, iii, ii c. iv, ii, iii, i  d. iv, ii, i, iii 

 
57. ‘Employment Bureau’ was set by _____ to solve unemployment problem during medieval 

time. 
a. Muhamad bin Tuglaq  b. Feroz Shah Tuglaq 
c. Sher Khan Lodi   d. Mahamad Tuglaq 
,ilf;fhy tuyhw;wpy; Ntiytha;g;gpd;ikr; rpf;fiyj; jPh;g;gjw;fhf Ntiytha;g;G 
mYtyfj;ij mikj;jth; _________. 
a. KfkJ gpd; Jf;sf;   b. ngNuh]; ~h Jf;sf;  
c. n~h;fhd; Nyhb    d. KfkJ Jf;sf;  

 
58. The term Gross National Happiness was coined by 

a. Mahbub Ul-Haq   b. Jigme Singye Wangchuck 
c. Amartiya Sen   d. J.M. Keynes 
nkhj;j Njrpa kfpo;r;rp (GNH) vd;w thu;j;ijia cUthf;fpatu;. 
a. Kf`g; cy; `pf;  b. [pf;Nk rpq;fNa thq;r;`f; 
c. mku;j;jpah nrd;   d. J.M. fPd;]; 

 
59. According to IMF World Economic Outlook. The GDP growth rate of India in 2018 is 

a. 7.2%  b. 7.3%  c. 7.4%  d. 7.5% 
gd;dhl;L epjp epWtdj;jpd; (IMF) cyf nghUshjhu fz;Nzhl;lk; (2018) d; gb ,e;jpahtpd; 
GDP tsu;r;rptpfpjk;. 
a. 7.2%  b. 7.3%  c. 7.4%  d. 7.5% 

 
60. The industrial resolution policy, 1956 was shaped by the __________ model of growth  

a. Jawaharlal Nehru  b. Mahalanobis   
c. Harrod Doamr   d. M.N Roy   
njhopw;Jiw jPu;khdf; nfhs;if> 1956 ve;j tsu;r;rp khjpupapd; mbg;gilapy; mikf;fg;gl;lJ? 
a. [t`u;yhy; NeU  b. kfyNdhgp]; 
c. `uhL Nlhkh;  d. M.N. uha; 

 
61. The US using public law 480 (PL 480) exported ___________ to India  

a. Rice   b. Wheat   c. Pulses   d. Oil seeds  
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,e;jpahtpw;F ____ ‘I Vw;Wkjp nra;a nghJr;rl;lk; 480 (PL480)- I mnkupf;fh 
gad;gLj;jpaJ? 
a. muprp  b. NfhJik  c. gUg;G tiffs; d. vz;nza; tpj;Jf;fs; 

 
62. TISCO was set up in _________ 

a. 1970  b. 1907  c. 1919  d. 1947 
TISCO ve;j Mz;L epWtg;gl;lJ? 
 a. 1970  b. 1907  c. 1919  d. 1947 

 
63. The government nationalised 14 major commercial banks on _________ 

a. 19 July 1949  b. 19 July 1969 c. 19 July 1979 d. 19 July 1980  
,e;jpa muR 14 ngupa tzpf tq;fpfis ___ md;W Njrpakakhf;f KbT nra;jJ. 
a. 19 [_iy 1949    b. 19 [_iy 1969 
c. 19 [_iy 1979    d. 19 [_iy 1980 

 
64. Rolling plan was made in _________ 

a. 1966-1967  b. 1978-1979  c. 1981-1982  d. 1989-1990   
Roy; jpl;lk; vg;NghJ njhlq;fg;gl;lJ? 
a. 1966-1967  b. 1978-1979  c. 1981-1982  d. 1989-1990 

 
65. The growth rate of XII economic plan is __________ 

a. 15%   b. 10%   c. 8%  d. 12%  
12’k; nghUshjhu jpl;lj;jpd; tsu;r;rp tPjk; vd;d? 
a. 15%   b. 10%   c. 8%  d. 12%  

 
66. The Physical quality of life Index was developed by __________ 

a. Amartya Sen    b. Prof Mahbub Ul Haq  
c. Morris D Morris    d. D.P Dhar   
tho;f;ifj;juf; FwpaPl;nlz;iz cUthf;fpatu;? 
a. mku;j;jpah nrd;   b. Nguhrpupau; k`G+g; cy; `f; 
c. Nkhup]; b. Nkhup];  d. D.P jhu; 

 
67. GNHI includes _________ 

a. Environment conservation   b. Promotion of culture  
c. Good governance    d. All the above 
GNHI vd;gJ cs;slf;fpAs;sJ? 
a. Rw;Wr;#oy; ghJfhg;G   b. fyhr;rhu Nkk;ghL 
c. rpwe;j epu;thfk;    d. Nkw;fz;l midj;Jk; 

 
68. India has ___________ population of youth (2011 census) 

a. 250 million    b. 300 million 
c. 232 million    d. 369 million  
,e;jpah vt;tsT ,isQu; kf;fs; njhifia nfhz;Ls;sJ? 
a. 250 kpy;ypad;   b. 300 kpy;ypad; 
c. 232 kpy;ypad;   d. 369 kpy;ypad; 

 
69. The state __________ has the lowest decadal growth rate of Population. 

a. Uttar Pradesh  b. Kerala  c. Tamil Nadu  d. Bihar  
gj;jhz;Lfspy; Fiwe;j gpwg;G tpfpjj;ij nfhz;Ls;s khepyk; vJ? 
a. cj;jpugpuNjrk; b. Nfush  c. jkpo;ehL  d.gPfhh; 
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70. India’s forest cover in 2007 is _________ of the total geographical area. 
a. 31.9%   b. 28.84%  c. 21.02%  d. 19.25% 
2007 – fzf;fPl;bd;gb> ,e;jpahtpd; fhLfs; nkhj;j epyg;gug;gpy; ____MFk;. 

a. 31.9%   b. 28.84%  c. 21.02%  d. 19.25% 
 
71. India stands __________ in sheet mica production.  

a. First   b. Second   c. Third   d. Fourth   
,e;jpah ikf;fhjhs; cw;gj;jpapy; _____ ,lj;ijg; gpbj;Js;sJ? 
a. Kjy;  b. ,uz;lhk;  c. %d;whk;  d. ehd;fhk; 

 
72. Kimberlile fields have been discovered in ___________ 

a. Aizwal  b. Ranchi      c. Raipur  d. Panna 
fpk;ngh;yp itur;Ruq;fk; vq;F fz;lwpag;gl;Ls;sJ? 
a. ma;];thy;  b. uhQ;rp    c. uha;g+h;  d. gd;dh 

 
73. Air India and Indian Airlines merged on ________ to form National Aviation Company of 

India (NACIL) ltd. 
a. Aug 27, 2007   b. Aug 27, 2017 
c. Aug 17, 2007   d. Aug 27, 2010 
Vh; ,e;jpah kw;Wk; ,e;jpad; Vh;iyd;]; ________ md;W xd;whf ,izf;fg;gl;L ,e;jpa 
tpkhd Nghf;Ftuj;J epWtdk; (NACIL) cUthf;fg;gl;lJ?  
a. Mf];L 27, 2007   b. Mf];L 27, 2017 
c. Mf];L 17, 2007   d. Mf];L 27, 2010 

 
74. The education system in India consists of primarily ________ levels. 

a. Four   b. Five   c. Six   d. Seven    
,e;jpa fy;tp Kiw> mbg;gilapy; _____ epiyfisf; nfhz;Ls;sJ? 
a. 4   b. 5   c. 6   d. 7 

 
75. Consider the following: 

1. Valluvar Advocated for seeking external assistance   
2. He advocates self sufficient economy also. 

 Which is correct? 
 a. 1 only     b. 2 only 
 c. Both 1 and 2    d. Neither 1 nor 2  
 gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 

1. ts;Sth; ntspehl;L cjtp ngWjiy Mjhpj;jhh;. 
2. mth; jd;dpiwT ngw;w nghUshjhuj;ijNa typAWj;Jfpwhh;. 
rhpahd xd;iw Njh;T nra;f. 
a. 1 kl;Lk;     b. 2 kl;Lk;  
c. 1 kw;Wk; 2 ,uz;Lk;   d. 1 kw;Wk; 2 ,uz;Lky;y  

 
76. According to Valluvar _________ is the greatest resource. 

a. People   b. Values   c. Labour  d. Gold  
kpfg;ngUk; tskhf ts;Sth; vijf; $Wfpwhh;? 
a. kf;fs;  b. kjpg;Gfs;  c. ciog;G  d.jq;fk; 

 
77. Consider the following: 

1. Gandhi advocated a decentralized economy. 
2. Bread labour or body labour was the expression that Gandhi used to mean manual 

labour. 
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Which of these are correct? 
a. 1 only     b. 2 only  
c. Both 1 and 2   d. Neither 1 nor 2  
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 
1. cw;gj;jp gutyhf;fg;gl Ntz;Lk; vd;W fhe;jp typAWj;jpdhh;. 
2. kdpj ciog;G vd;gNj cly; ciog;G jhd; vd;W fhe;jp cWjpgl $wpdhh;. 
rhpahd xd;iw Njh;T nra;f. 
a. 1 kl;Lk;     b. 2 kl;Lk;  
c. 1 kw;Wk; 2 ,uz;Lk;   d. 1 kw;Wk; 2 ,uz;Lky;y  

 
78. The “ Ancient Indian commerce” was written by __________ 

a. Mahatma Gandhi   b. Dr. Amaryasen 
c. Dr. B R Ambedkar  d. Dadabhai Naoroji   
“goq;fhy ,e;jpa th;j;jfk;” – vd;w Ma;Tf;fl;Liu ahuhy; vOjg;gl;lJ? 
a. kfhj;kh fhe;jp   b. lhf;lh;. mkh;j;jpah nrd; 
c. lhf;lh;. B.R.mk;Ngj;fh;  d. jhjhgha; nesNuh[p 

 
79. The ‘small holdings in India and their remedies’ was published by ________ 

a. Dr. Amrthyasen   b. Dr. BR Ambedkar 
c. Dr. RaghuramRajan  d. Dr. V. K. R. V Rao 
“,e;jpahtpy; Fiwe;j epyTilik kw;Wk; mjw;fhd jPh;Tfs;” vd;w fl;̂ iuia vOjpath;? 
a. lhf;lh;. mkh;j;jpah nrd;  b. lhf;lh;. B.R.mk;Ngj;fh; 
c. lhf;lh;. uFuhk;uh[d;  d. lhf;lh;. V.K.R.V uht; 

 
80. ‘Gandhian Economics’ was coined by __________ 

a. J C Kumarappa  b. Jawaharlal Nehru 
c. Subash Chandra Bose  d. V. K. R. V Rao 
“fhe;jpag; nghUshjhuk;” vd;w fUj;ij cUthf;fpath;? 
a. J. C Fkug;gh  b. [t`h;yhy; NeU 
c. Rgh~; re;jpuNgh];  d. V. K. R. V uht;  

 
81. The pamphlet “What is wrong with Indian Economic Life”? was written by 
 a. V.K.R.V Rao  b. J.C Kumarappa 
 c. R.C Dutta   d. Subash Chandra Bose 
 “,e;jpag; nghUspay; tho;tpy; vd;d jtW”? vd;w Gj;jfk; ahuhy;  vOjg;gl;lJ? 
 a. V.K.R.V. uht;   b. J. C. Fkug;gh  
 c. R.C.jj;   d. Rgh~;re;jpu Ngh]; 
 
82. The social choice theory, development economics, study on poverty and famines and 

concept of entitlements and capability development was the contribution of __________ 
 a. V.K.R.V Rao   b. Amartya Kumar Sen 
 c. D.R Gadgill   d. C.N. Vakil 
 r%fj; njhpT nfhs;if> tsh;r;rpg; nghUshjhuk; tWik kw;Wk; gQ;rq;fs;  gw;wpa 

Ma;T kw;Wk; chpkq;fs; jpwd; Kd;Ndw;wk; gw;wpa fUj;J  Mfpatw;wpy; kpfg;ngUk; 
gq;fspg;G cilath; ahh;? 

 a. V.K.R.Vuht;   b. mkh;j;jpah nrd;  
 c. D.R fhl;fpy;   d. C.N tf;fpy; 
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83. Consider the following statements. 
I. The Monopoly and Restrictive Trade Practices Act was enacted in 1969.  
II. In 2010, the competition commission has emerged as the watch dog in monitoring 

competitive practices in the economy. 
a. I, II are correct  b. I is correct 
c. II is correct   d. I, II are incorrect 
gpd;tUk; $w;Wfis Muha;f. 
I. thzpg Kw;Wupik jLg;Gr; rl;lk; 1969-Mk; Mz;L ,aw;wg;gl;lJ. 
II. 2010 Mk; Mz;L nghUshjhug; Nghl;bfisf; fz;fhzpf;Fk; mikg;ghf 

Vw;gLj;jg;gl;lJ. 
a. I, II rup  b. I rup  c. II rup  d. I, II jtW 

 
84. Which of the following statements about EXIM policy is/are correct? 

i. The Ministry of Commerce and Industry announced New Foreign Trade Policy on 
1st April, 2015 

ii. It focuses on increasing in exports scenario boosting production and supporting the 
concepts like Make in India and Digital India. 

iii. EXIM Policy (2015-2020) is expected to double share of India in world from present 
level of 5% by the year 2020. 

a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 
gpd;tUk; $w;Wfspy; Vw;Wkjp - ,wf;Fkjpf; nfhs;if (EXIM POLICY) gw;wp rupahdit 
vit? 
i. tu;j;jf kw;Wk; njhopy;Jiw mikr;rfk;> 2015 Mk; Mz;L Vg;uy; 1 md;W 

,f;nfhs;ifia mwptpj;jJ. 
ii. Kjd;ikahd Nehf;fk; Vw;Wkjp #oy;fis Nkk;gLj;Jjy;> cw;gj;jp mjpfupg;G kw;Wk; 

,e;jpahtpy; jahupg;Nghk;> kpd;dZ ,e;jpah jpl;lq;fSf;F Mjutspj;jy;. 
iii. jw;NghJ cyf tu;j;jfj;jpy; 5% khf ,Ue;j ,e;jpahtpd; gq;if 2020-f;Fs; Vw;Wkjp 

,wf;Fkjpf; nfhs;if (2015-2020) ,Uklq;F mjpfupf;Fk;. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii 

 
85. “The concept of national income is an indispensable preparation for tackling the great issues 

of unemployment inflation and growth”. Who said this? 
a. Robertson    b. Samuelson 
c. Ronald Fisher   d. J.M. Keynes 
“ngupa gpur;ridfshd Ntiytha;g;G,d;ik> gztPf;fk; kw;Wk; tsu;r;rp Mfpatw;iw 
rkhspg;gjw;fhf jahupf;fg;gl;l jtpu;f;f Kbahj jahupg;Ng Njrpa tUtha; vDk; fUj;JU” 
vd;W $wpatu; ahu;? 
a. uhgu;l;rd;    b. rhKNty;rd; 
c. nuhdhy;L gp~u;   d. J.M. [Pd;]; 

 
86. The Quantity Theory of money was first propounded by 

a. Irving Fisher   b. Davanzatti 
c. Amartiyasen   d. Milton Friedman 
gzmsT Nfhl;ghl;bid Kjd;Kjypy; Kd;nkhope;jth;? 
a. ,u;tpd; gp~u;   b. lhtd;~l;b 
c. mku;j;jpahnrd;   d. kpy;ld; gpnuLNkd; 

 
87. Choose the correct statements about inflation 

i. The general level of prices for goods and services is rising 
ii. The Purchasing power of currency is Falling 
iii. The value of money is rising 
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a. (i) and (ii)  b. (ii) and (iii) c. (i) and (iii)  d. (i), (ii) and (iii) 
gztPf;fk; gw;wpa $w;Wfspy; rupahdit vit? 
i. gz;lq;fs; kw;Wk; gzpfs; kPjh nghJtpiykl;l mjpfupg;G. 
ii. gzj;jpd; thq;Fk; rf;jp Fiwtijf; Fwpf;fpwJ. 
iii. gzj;jpd; kjpg;G cau;fpwJ. 
a. (i) kw;Wk; (ii) b. (ii) kw;Wk; (iii) c. (i) kw;Wk; (iii) d. (i), (ii) kw;Wk; (iii) 

 
88. Which of the following is/are the secondary function of commercial banks? 

i. Agency functions   ii. General unity functions   iii. Transferring funds 
a. i, ii   b. i, iii  c. i, iii  d. i, ii, iii 
tzpf tq;fpfspd; ,uz;lhk; epiyg;gzpfs; vit? 
i. Kfikg; gzpfs;  ii. nghJg; gad;ghl;L gzpfs; iii. nryTfis nrYj;JfpwJ 
a. i, ii   b. i, iii  c. i, iii  d. i, ii, iii 

 
89. Match the following 

A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
nghUj;Jf. 
A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 

 
90. Choose the correct statements about Monetary policy. 

i. It is the macroeconomic policy. 
ii. The initiation of monetary policy was made by J.M.Keynes 
iii. It gained its significance after the World War – II. 
a. i and ii  b. i and iii  c. ii and iii  d. i, ii and iii 
gztpay; nfhs;if gw;wp rupahd $w;wpidj; Nju;enjL. 
i. ,J xU Ngupdg; nghUspay; nfhs;if. 
ii. gztpay; nfhs;ifia Kd;ndLj;jtu; J.M. fPd;]; 
iii. ,J ,uz;lhk; cyfg;NghUf;Fg;gpd; Kf;fpaj;Jtk; ngw;wJ. 
a. i kw;Wk; ii  b. i kw;Wk; iii  c. ii kw;Wk; iii  d. i, ii kw;Wk; iii 
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91. The book “Monetary History of the United States, 1867-1960” was written by ____. 
a. Milton Friedman   b. J.M. Keynes 
c. Lawrence Robert Klein  d. Carmen Reinhart 
mnkupf;f If;fpa muRfspd; gztpay; tuyhW> (1867 - 1960) vd;w Gj;jfj;ij vOjpatu; 
____. 
a. kpy;ld; gpiul;Nkd;  b. J.M. fPd;]; 
c. yhud;]; uhgu;l; fpnsa;d;  d. fhu;nkd; nudhu;l; 

 
92. “Public finance is an investigation into the nature and principles of the state revenue and 

expenditure”. This definition was given by  
a. Robertson  b. Huge Dalton  c. Walker  d. Adamsmith 
“murpd; tUtha; kw;Wk; nryTfspd; ,ay;igAk;> nfhs;iffisAk; Muha;tNj nghJ 
epjpapay;” vd;W $wpatu;? 
a. uhgu;l;rd;  b. `P[; lhy;ld;  c. thf;fu;  d. Mlk;];kpj; 
 

93. Arrange the Sex Ratio of States (2011 census) in ascending order 
i. Gujarat   ii. Uttar Pradesh  
iii. Tamil Nadu  iv. Andhra Pradesh 
a. i, ii, iv. iii  b. ii, i, iv, iii  c. ii, iii, iv, i  d. i, ii, iv, iii 
khepyq;fspd; ghypd tpfpjj;ij %(2011) fzf;nfLg;gpd;gb VWthpirapy; mikf;fTk;.  
i. F[uhj;   ii. cj;jpug;gpuNjrk;  
iii. jkpo;ehL    iv. Me;jpug;gpuNjrk; 
a. i, ii, iv. iii  b. ii, i, iv, iii  c. ii, iii, iv, i  d. i, ii, iv, iii 

 
94. Occupational pattern in Developed countries. 

a. Tertiary < Secondary < Agriculture 
b. Tertiary < Agriculture < Secondary 
c. Agriculture < Secondary = Tertiary 
d. Tertiary > Agriculture > Secondary 
tsh;e;j ehLfspYs;s Ntiytha;g;G mikg;hgdJ  
a. %d;whk; Jiw < ,uz;lhk; Jiw <  tptrhak;  
b. %d;whk; Jiw <  tptrhak; < ,uz;lhk; Jiw 
c. tptrhak; < ,uz;lhk; Jiw = %d;whk; Jiw  
d. %d;whk; Jiw > tptrhak; > ,uz;lhk; Jiw  

 
95. The first form of money is ____ 

a. Sand Seals  b. Metals  c. Paper currency  d. Wood 
Kjd; Kjypy; gad;gLj;jg;gl;l gzkhdJ ___________. 
a. XLfs;  b. cNyhfq;fs;  c. fhfpjg; gzk;   d. kuk;  

 
96. The Guidelines for Reserve Bank of India Act 1934 was taken from ____ 

a. The Problem of the Rupee – Its origin and solution. 
b. Banks and its purposes 
c. Federal Bank and its eminence 
d. Managing Market economy. 
_________ ypUe;J ,e;jpa hprh;t; tq;fpr;rl;lk;> 1934 d; topKiwfs; vLf;fg;gl;ld.  
a. gzj;jpd; rpf;fYk; mjd; jPh;Tk;  
b. tq;fpfs; kw;Wk; mjd; Nehf;fq;fs;  
c. $l;lhl;rp tq;fpAk; mjd; khz;Gk;  
d. re;ijg; nghUshjhuj;ij eph;tfpj;jy;  
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97. In Tamil Nadu, ___ is used for Agriculture. 

a. 
1

4
th of Total Area   b. 

2

3
rd of Total Area 

c 
1

3
rd of  Total Area   d. 

1

6
th of Total Area 

jkpo;ehl;by; ________ tptrhaj;jpw;F gad;gLj;jg;gLfpwJ  

a. nkhj;jg;gug;gpy; 
1

4
gq;F   b. nkhj;jg;gug;gpy; 

2

3
gq;F 

c. nkhj;jg;gug;gpy; 
1

3
 gq;F   d. nkhj;jg;gug;gpy; 

1

6
gq;F 

 
98. Food production in Tamil Nadu in 2014 – 2015 

i. Maize – 20%,    ii. Corn – 3%,   
iii. Ragi – 7%    iv. Black gram – 3% 
Which of these is relevant? 
a. i, iii only  b. ii, iii only  c. iii, iv only  d. i, iv only 
2014 – 2015 y; jkpo;ehl;by; czT cw;gj;jp  
i. kf;fhr;Nrhsk; - 20%   ii. Nrhsk; - 3% 
iii. Nfo;tuF – 7%    iv. cSe;J – 3%  
,tw;wpy; njhlh;Gilait vit?  
a. i, iii kl;Lk;  b. ii, iii kl;Lk;  c. iii, iv kl;Lk;   d. i, iv kl;Lk;  

 
99. In Tamil Nadu, (2011 census) 

i. 27% migration by population in Rural areas. 
ii. 37% migration by population in Urban areas 
Which of these are relevant? 
a. i only  b. ii only  c. i, ii    d. None 
jkpo;ehL (2011 fzf;nfLg;gpd; gb) 
i. 27% ,lk;ngah;thdJ fpuhkg;Gw kf;fshy; eilngWfpwJ.  
ii. 37% ,lk;ngah;thdJ efh;Gw kf;fshy; eilngWfpwJ.  
a. i kl;Lk;  b. ii kl;Lk;   c. i kw;Wk; ii   d. vJTkpy;iy  

 
100. The state that leads in  Installed Solar capacity is ____ 

a. Kerala  b. Tamil Nadu c. Maharashtra d. Andhra Pradesh 
epWtg;gl;l #hparf;jpapy; Kd;ddpapy; cs;s khepykhdJ __________.  
a. Nfush  b. jkpo;ehL  c. kfhuh~;buh d. Me;jpug;gpuNjrk;  

 
101. Near field communication (NFC) was introduced in India in ___ 

a. 2010  b. 2014  c. 2016   d. 2018 
mUfhik njhlh;G njhopy;El;gkhdJ (NFC) ,e;jpahtpy; mwpKfg;gLj;jg;gl;l Mz;L 
_________ 
a. 2010  b. 2014  c. 2016   d. 2018 
 

102. The industrial policy resolution of ___________ had ushered in India the system of mixed 
economy  
a. 1948  b. 1956  c. 1990  d. 1991    
,e;jpahtpy; fyg;Gg; nghUshjhuj;ij mwpKfg;gLj;jpa njhopw;nfhs;if vJ? 
a. 1948  b. 1956  c. 1990  d. 1991    
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103. The industrial policy resolution, 1948 had emphasized centre’s monopoly in  
1. Railways    2. Arms and Ammunition   3. Atomic energy 
4. Postal department  5. Mineral oil  
a. 1, 2, 4, 5  b. 2, 3, 4, 5  c. 1, 2, 3, 4  d. 1, 2, 3, 4, 5   
1948 –njhopw;nfhs;ifapd;gb> ika murpd; Kd;Dupikapy; ,Ue;j Jiwfs;>  
1. ,uapy;Nt  2. ,uhZtj; jsthlq;fs;  3. mZ Mw;wy; 
4. jghy;Jiw  5. vz;nza; tsq;fs; 
a. 1, 2, 4, 5  b. 2, 3, 4, 5  c. 1, 2, 3, 4  d. 1, 2, 3, 4, 5   

 
104. The new technology in agricultural practices in 1960-1961 was called the _________ 

a. High yielding programme (HYP)  
b. Crop Revolution programme  
c. High Yielding Varieties Programme (HYVP)   
d. Food revolution programme  
1960 – 61’y; Ntshz; Jiwapy; Gjpa njhopy;El;gj;ij gad;gLj;Jk; Kaw;rp vt;thW 
miof;fg;gLfpwJ. 
a. mjpf tpisr;ry; jpl;lk; (HYP) 
b. gapu; Gul;rp jpl;lk; 
c. mjpf tpisr;ry; jUk; ufq;fis cw;gj;jp nra;tjw;fhd jpl;lk; (HYVP) 
d. czT Gul;rp jpl;lk; 

 
105. IISCO was set up in ____________ 

a. 1907  b. 1870  c. 1919  d. 1947  
IISCO vg;NghJ epWtg;gl;lJ? 
a. 1907  b. 1870  c. 1919  d. 1947  

 
106. The Vishveshvarya iron and steel works was setup at ________ 

a. Burnpur   b. Bhadrawati  c. Bengal   d. Jamshedpur  
tp];Nt];tua;ah ,Uk;G kw;Wk; v/F njhopy; epWtdk; vq;F epWtg;gl;lJ? 
a. gu;dG+u;  b. gj;uhtjp  c. tq;fhsk;  d. [hk;n[l;G+u; 

   
107. The Steel Authority of India Ltd was established in __________ 

a. 1947  b. 1967  c. 1974  d. 1982    
,e;jpa v/F epWtdk; (SAIL) vg;NghJ epWtg;gl;lJ? 
a. 1947  b. 1967  c. 1974  d. 1982    

 
108. Third world Nations:  

1. Low per capita income.   
2. Utilize their resources efficiently 
Which of these is correct? 
a. 1 only  b. 2 only  c. Both 1 & 2  d. Neither 1 nor 2  
%d;whk; cyf ehLfs; vd;git: 
1. Fiwe;j jyh tUkhdk; nfhz;l ehLfs; 
2. ehl;L tsq;fis KOikahf gad;gLj;Jk; ehLfs; 
rupahdtw;iw Nju;e;njLf;fTk;. 
a. 1 kl;Lk;    b. 2 kl;Lk;    
c. 1 kw;Wk; 2 ,uz;Lk;  d. 1 kw;Wk; 2 ,uz;Lky;y 

 
109. The highest number of Internet users is in ________. 

a. China  b. India   c. United States   d. Indonesia 
ve;j ehl;by; ,izajs Nrit gadhsu;fs; mjpf vz;zpf;iapy; cs;sdu;? 
a. rPdh  b. ,e;jpah   c. mnkupf;f khfhzk;  d. ,e;NjhNdrpah 
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110. BIMARU states denotes states with __________. 
a. Very high population  b. Very low literacy rate  
c. Very low Population   d. Very high literacy rate  
gpkU khepyq;fs; Fwpg;gJ? 
a. mjpf kf;fs;njhif  b. kpff; Fiwe;j vOj;jwpT tPjk; 
c. kpff; Fiwe;j kf;fs;njhif d. kpf mjpf vOj;jwpT tPjk; 

 
111. The density of population in 1951 is ________. 

a. 117  b. 325  c. 100  d. 382  
1951 y; kf;fs;njhif mlh;j;jp _______ 
a. 117  b. 325  c. 100  d. 382  

 
112. India Ranks _________ in the world in coal production. 

a. Second   b. First   c. Third  d. Fifth   
cyfpNyNa epyf;fhp cw;gj;jpapy; ,e;jpahtpy; epiy vd;d? 
a. 2    b. 1    c. 3   d. 4   

 
113. The country that contributes to 60% of mica Trade in the world is ________ 

a. USA   b. China   c. India  d. Argentina  
cyfpNyNa nkhj;j ikf;fh thzpgj;jpy; 60%  gq;fspf;Fk; ehL vJ? 
a. mnkhpf;fh  b. rPdh   c. ,e;jpah  d. mh;n[z;bdh 

 
114. The _________ in India formulates education policy in India and also undertakes education 

programme.  
a. NITI AYOG  

 b. Ministry of human resource development     
c. University grants commission  

 d. National council of educational research   
 ________ ek; ehl;bd; fy;tpf; nfhs;iffisAk;> jpl;lq;fisAk; tFj;J 
 eilKiwg;gLj;jp tUfpwJ? 
 a. epjp MNahf; 
 b. kdpjts Nkk;ghl;Lj;Jiw mikr;rfk; 
 c. gy;fiyfof khdpaf;FO 
 d. Njrpa fy;tp Muha;r;rpf;FO 
 
115. According to Valluvar __________ is the root cause of all the other evils which would lead 

to ever-lasting sufferings. 
a. Money  b. Poverty  c. Immoral mind    d. Slavery  
midj;J jPikfSf;Fk; Ntuha; ,Ue;J vf;fhyj;Jk; jPuhj Jd;gq;fisj; jUtjhf ts;Sth; 
fUJtJ vJ? 
a. gzk;   b. tWik  c. mePjpahd vz;zq;fs;  d. mbikj;jdk; 

 
116. Valluvar advocates _________ items of public expenditure.  

a. Defence     b. Public works   
c. social services    d. All the above   
ts;Sth; nghJr;nryit ve;j %d;W ,dq;fSf;F nrytpLkhW typAWj;Jfpwhh;? 
a.ghJfhg;G    b. nghJg;gzpfs; 
c. r%f gzpfs;   d. Nkw;fz;l midj;Jk; 
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117. Jawaharlal Nehru’s economic thought includes. 
a. Secularism    b. Planning 
c. a, b, d    d. Democratic socialism 
[t`h;yhy; NeUtpd; nghUshjhu rpe;jidfspy; cs;slq;fpaJ? 
a. kjr;rhh;gpd;ik   b. jpl;lkpLjy; 
c. a, b, d    d. [dehaf rkjh;kk; 

 
118. The ‘Christianity: Its economy and way of life’ was written by _________ 

a. JC Kumarappa   b. V. K. R. V Rao  
c.Raja Ram Mohan Roy  d. David Ricardo 
“fpwp];Jtk;: mjd; nghUshjhuKk; tho;f;if KiwAk;” vd;w Gj;jfk; ahuhy; vOjg;gl;lJ? 
a. J. C Fkug;gh   b. V. K. R. V uht; 
c. uh[huhk; Nkhfd;uha;  d. Nltpl; hpf;fhh;Nlh 

 
119. In “Choice of Technique” 

1. In a labour surplus economy generation of employment cannot be increased at the initial 
stage by the adaptation of capital – intensive technique. 

2. It is a work of Amartya Sen 
 Which is correct? 
 a. 1 only    b. 2 only 
 c. Both 1 and 2  d. Neither 1 nor 2 
 “njhopy;El;gj; njhptpy;” – cs;slq;fpaJ>  

1. %yjd nrwpT El;g Kiwapy; ciog;ghsh;fs; cghpahf cs;s nghUshjhuj;jpy; 
Ntiytha;g;Gfis mjpfhpg;gJ fbdk;. 

2. ,J mkh;j;jpahnrd; vd;gtuhy; vOjg;gl;lJ 
 rhpahd $w;iw Njh;Tnra;f. 

a. 1 kl;Lk;    b. 2 kl;Lk;  
 c. 1 kw;Wk; 2 ,uz;Lk;  d. 1 kw;Wk; 2 ,uz;Lky;y 
 
120. Which of these was shaped by Mahalanobis model of growth? 
 a. Industrial policy of 1948  b. Industrial policy of 1956 
 c. Industrial policy of 1977  d. Industrial policy of 1980  
 kfyNdhgp]; tsh;r;rp khjphpapd; mbg;gilapy; mikf;fg;gl;l  njhopw;nfhs;if? 
 a. 1948-d; njhopw;nfhs;if  b.1956-d; njhopw;nfhs;if 
 c. 1977 –d; njhopw;nfhs;if d.1980 –d; njhopw;nfhs;if 
 
121. Security printing and minting corporation of India Ltd is in ____ 

a. Ghaziabad  b. Narora  c. Dewas  d. Chennai 
,e;jpa ehza ghJfhg;G mr;rf epWtdkhdJ ______y; cs;sJ. 
a. fhrpahghj;  b. eNuuh  c. Njth];   d. neha;lh   

 
122. The Authority to decide the value of currency is ____ 

a. Ministry of Finance   b. Ministry of Statistics 
c. Reserve Bank of India  d. NITI Ayog  
gzj;jpd; kjpg;ig eph;zapf;Fk; mjpfhu mikg;G _________.  
a. epjp mikr;rfk;    b. Gs;spapay; mikr;rfk;  
c. ,e;jpa hprh;t; tq;fp  d. epjp MNahf;  
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123. Arrange in Ascending order 
i. Irrigated by canals 
ii. Irrigated by open wells 
iii. Irrigated by Lakes 
iv. Irrigated by Borewells 
a. i, iv, iii, ii  b. iii, i, iv, ii  c. iii, i, ii, iv  d. ii, iv, i ,iii 
VWthpirapy; mikf;f  
i. tha;f;fhy;fs; %yk; Ntshz;ik  
ii. jpwe;jntspf; fpzWfs; %yk; Ntshz;ik 
iii. Vhpfspd; %yk; Ntshz;ik  
iv. Mo;Jisf; fpzWfs; %yk; Ntshz;ik  
a. i, iv, iii, ii  b. iii, i, iv, ii  c. iii, i, ii, iv  d. ii, iv, i ,iii 

 
124. Virtual water is ___ 

a. Water in production process  b. Imaginary water 
c. Electronic water    d. Waterless nature 
kiwePh; vd;gJ ___________. 
a. cw;gj;jpapd; kPjhd ePH   b. fw;gidahd ePh;  
c. kpd;rhu ePh;     d. ePhpy;yhj jd;ik  

 
125. The industrial policy resolution, 1948 classified industries into ________ groups 

a. Five   b. Four   c. Three   d. Seven   
1948 –njhopw;nfhs;ifapd; -gb ,e;jpaj; njhopy;fs; vj;jid tiffshfg; gpupf;fg;gl;ld? 
a. Ie;J  b. ehd;F  c. %d;W  d. VO 

 
126. India is the _____________ largest steel producing country in the world 

a. Fifth  b. Seventh   c. Eighth   d. Third     
,e;jpah v/F cw;gj;jpapy; cyf mstpy; ___ caupa ,lj;jpYs;sJ. 
a. Ie;jhtJ  b. VohtJ  c. vl;lhtJ  d. %d;whtJ 

 
127. The Second Economic plan was based on __________ 

a. Harrod – Domar model  b. P.C Mahalanobis Model   
c. Gadgil model   d. M.N. Roy Model 
2-tJ nghUshjhu jpl;lk; vij mbg;gilahff; nfhz;lJ? 
a. `hNul; - lhku; khjphp  b. P.C. k`yNehgp]; khjphp 
c. fhl;fpy; khjpup   d. M.N. uha; khjpup 

 
128. The NITI Aayog replaced the economic planning commission on _________ 

a. 15th August 2014  b. 1st January 2015 
c. 15th August 2015  d. 1st January 2016  
nghUshjhu jpl;lf;FOtpw;F gjpyhf epjp MNahf; vg;NghJ nfhz;Ltug;gl;lJ? 
a. 15 Mf];L 2014  b. 1 [dtup 2015 
c. 15 Mf];L 2015  d. 1 [dtup 2016 

 
129. The Human Development Index is published by ___________ 

a. UNICEF b. UNDP  c. IMF  d. WHO    
kdpj Nkk;ghl;L mwpf;ifia gpuRuk; nra;tJ? 
a. UNICEF b. UNDP  c. IMF  d. WHO    

 
130. The Human Development report is published since  

a. 1970  b. 1980  c. 1990  d. 2000    
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kdpj Nkk;ghl;L mwpf;if> ve;j Mz;bypUe;J ntspaplg;gLfpwJ? 
a. 1970  b. 1980  c. 1990  d. 2000    

 
131. The PQLI includes  

1. Life expectancy  2. Infant Mortality Rate 3. Literacy rate   
Which is correct? 
a. 1, 2  b. 1, 2, 3  c. 2, 3   d. 1, 3  
PQLI vd;gJ fPo;f;fz;ltw;wpy; vij cs;slf;fpait? 
1. vjpu;ghu;g;G MAl;fhyk;  2. Foe;ij ,wg;G tPjk; 
3. vOj;jwpT tPjk; 
rupahdtw;iw Nju;e;njLf;f. 
a. 1, 2  b. 1, 2, 3  c. 2, 3   d. 1, 3  

 
132. The supply curve is vertical and it is inelastic in ___ 

a. Very short period market b. Short period market 
c. Long period market  d. Very long period market 
_______ fhyj;jpy; mspg;G tisNfhL nrq;Fj;jhfTk;> nefpo;r;rpaw;wjhfTk; ,Uf;Fk;? 
a. kpff;FWfpa fhyk;  b. FWfpafhy mq;fhb 
c. ePz;l fhy mq;fhb  d. kpfePz;l fhy mq;fhb 

 
133. Around ______ of the people in India depend upon agriculture for their livelihood. 

a. 60%  b. 40%  c. 50%  d. 70%     
,e;jpahtpy; ___ rjtpj kf;fs; jq;fs; tho;f;if Mjhukhf Ntshz;ik rhu;e;j 
eltbf;iffspy; <LgLfpwhu;fs;. 
a. 60%  b. 40%  c. 50%  d. 70%     

 
134. Indian economy is characterized by __________. 

a. Human capital    b. Jobless growth 
c. Accelerated growth   d. Agriculture growth 
,e;jpag; nghUshjhuk; __________ gz;igf; nfhz;Ls;sJ? 
a. kdpj KjyPL   b. Ntiytha;g;gw;w tsh;r;rp 
c. JhpjgLj;jg;gl;l tsh;r;rp  d. Ntshz;ik tsh;r;rp  

 
135. The combined population of _________ and ________ is more than the population of United 

States of America. 
a. Uttar Pradesh, Bihar   
b. Maharashtra, Madhya Pradesh 
c. Uttar Pradesh, Maharashtra  
d. Uttar Pradesh, Madhya Pradesh 
fPo;f;fz;l ve;j ,U khepyq;fspd; kf;fs;njhifapd; $Ljiy xg;gpl;lhy; mnkhpf;f If;fpa 
ehLfspd; kf;fs;njhifia tpl mjpfkhFk;? 
a. cj;jpugpuNjrk;> gPfhh;   b. kfhuh~;buh> kj;jpag;gpuNjrk; 
c. cj;jpugpuNjrk;> kfhuh~;buh  d. cj;jpugpuNjrk;> kj;jpag;gpuNjrk; 

 
136. The negative growth took place in _________ due to rapid and frequent occurrence of 

epidemics like cholera, plague and influenza and also famines. 
a. 1901-1911  b. 1911-1921  c. 1921-1931  d. 1961-1971     
fhyuh> gpNsf;> ,d;/GSad;rh Nghd;w nfhs;is Neha;fs; kw;Wk; gQ;rk; ,tw;wpd; fhuzkhf 
fhyfl;lj;jpy; kf;fs;njhif vjph;kiwahff; Fiwe;jJ.  
a. 1901-1911  b. 1911-1921  c. 1921-1931  d. 1961-1971     

 
 



 

27 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

137. India has about __________ of the world’s geographical area.  
a. 5.2%  b. 2.4%  c. 4.9%  d. 6.9% 
cyf Gtpg;gug;gpy; ,e;jpah _______ rjtPj gug;gsit ngw;Ws;sJ. 
a. 5.2%  b. 2.4%  c. 4.9%  d. 6.9% 

 
138. The __________ state has the highest birth rate (29.5). 

a. Uttar Pradesh  b. Bihar 
c. Madhya Pradesh   d. Maharashtra 
mjpf msT gpwg;G tpfpjk (29.5); nfhz;l khepyk; vJ? 
a. cj;ju gpuNjrk;  b. gPfhh; 
c. kj;jpagpuNjrk;  d. kfhuh~;buh 

 
139. Haematite one is found in _________ 

a. Goa      b. Karnataka    
c. Both a and b    d. Neither a nor b 
N`kill;; jhJ mjpfkhf vq;F fz;lwpag;gl;Ls;sJ? 
a. Nfhth     b. fh;ehlfh 
c. a kw;Wk; b ,uz;Lk;    d. a kw;Wk; b ,uz;Lky;y  

 
140. India has ________ gold mine regions.  

a. 1   b. 2   c. 3   d. 4 
,e;jpahtpy; cs;s jq;fr; Ruq;fg; gFjpfs; vj;jid?  
a. 1   b. 2   c. 3   d. 4 

 
141. Which one of the following is a basic characteristic of Indian economy? 

a. High standard of living of the average Indians 
b. Unequal distribution of income and wealth 
c. Absence of capital formation 
d. Low density of population 
gpd;tUtdtw;Ws; ,e;jpag; nghUshjhuj;jpd; mbg;gil ,ay;Gfspy; xd;W vJ?  
a. ruhrhp ,e;jpah;fspd; cah;e;j tho;f;ifj; juk;  
b. tUkhdk; kw;Wk; nry;tg; gfph;tpy; rkepiyapd;ik  
c. %yjd Mf;fkpd;ik  
d. Fiwthd kf;fs; njhif mlh;j;jp  

 
142. The plan outlay for industrial sector during the first plan in India was  

a. Rs. 55 crore     b. Rs. 550 crore  
c. Rs. 97 crore     d. Rs. 425 crore  
,e;jpahtpd; KjyhtJ jpl;lj;jpy; njhopy; Jiwf;nfd;W nra;ag;gl;l nkhj;j xJf;fPL  
a. &gha; 55 Nfhb    b. &gha; 550 Nfhb  
c. &gha; 97 Nfhb    d. &gha; 425 Nfhb  

 
143. Consider the following statements and choose the correct code given below 

I. Whole sale price Index is constructed and released by central statistical Organisations 
II. Consumer price Indexes are prepared and released by the office of economic advisor 

Ministry of Finance 
a. Only I is correct    b. Only II is correct  
c. I and II both are correct   d.  Neither I or II is correct 
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fPo;fz;l $w;Wf;F rhpahd FwpaPl;il fhz;f.  
I. nkhj;j tpw;gid tpiy FwpaPl;nlz;iz mikg;gJk; kw;Wk; ntspapLtJk; kj;jpa 

Gs;spapay; mikg;G  
II. Efh;Nthh; tpiy FwpaPl;nlz;iz jahh; nra;jYk; kw;Wk; ntspapLtJk; nghUshjhu 

MNyhrfh; epjp mYtyfk;  
a. $w;W I kl;Lk; rhp    b. $w;W II kl;Lk; rhp 
c. $w;W I, II-k; rhp (,uz;Lk;)   d. $w;W I kw;Wk; II rhpay;y  

 
144. Open market operations of RBI refers to 

a. Buying of eligible securities  
b. Selling of eligible securities 
c. Buying and selling of eligible securities  
d. The control of money circulation  
,e;jpa hprh;t; tq;fpapd; ntspr; re;ij eltbf;iffs; vd;gJ vijf; Fwpf;fpwJ? 
a. jFjpAila gq;Ffis thq;Fjy;  
b. jFjpAila gq;Ffis tpw;wy; 
c. jFjpAila gq;Ffis tpw;wYk; thq;FjYk; 
d. gzg; Gof;fj;ij fl;Lg;gLj;Jjy; 

 
145. Match List I with list  II 

List I       List I    
A. Issues in Monetary Management   1. Irving Fisher 
B. Theory of Economic growth   2. C. Rangarajan 
C. Purchasing power of money   3. Aruthur Lewis 
D. Value of money      4. A.C. Pigou 
 A  B  C D 
a. 2 3 1 4 
b. 1 2 3 4 
c.  3 2 1 4 
d. 4 3 2 1 
gl;bay; I- cld; gl;bay; II –ia> nghUj;Jf>  
 gl;bay; I     gl;bay; II 
A. gztpay; Nkyhz;ik gpur;ridfs;  1. ,h;tpq; gp~h;  
B. nghUshjhu tsh;r;rp Nfhl;ghL   2. rp. uq;feh[d;  
C. gzj;jpd; thq;Fk; jpwd;    3. Mh;jh; Y}ap]; 
D. gz kjpg;G      4. V.rp. gpF  
 A  B  C D 
a. 2 3 1 4 
b. 1 2 3 4 
c.  3 2 1 4 
d. 4 3 2 1 

 
146. The Reserve Bank of India has the sole right to issue bank notes of all denomination under 

the Section ______________of RBI Act. 
A. 22    B. 23   C. 24                  D. 26 
,e;jpa ika tq;fp tpjp ________ d; gb ika tq;fpf;F vy;yh tifahd gz 
Nehl;LfisAk; ntspapLk; jdpg;ngWk; mjpfhuk; cs;sJ 
A. 22    B. 23   C. 24                  D. 26 
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147. What is the minimum reserve system of RBI? 
a. Rs.300 crores of which atleast Rs.200 crores should be in gold 
b. Rs.500 crores of which atleast Rs.300 crores should be in gold 
c. Rs.700 crores of which atleast Rs.400 crores should be in gold  
d. Rs.200 crores of which atleast Rs.115 crores should be in gold 
,e;jpa hprh;t; tq;fpapd; Fiwe;jgl;r ifapUg;G vd;d?  
a. &gha; 300 Nfhb mtw;wpy; Fiwe;jgl;rk; &gha; 200 Nfhb jq;fkhf  
b. &gha; 500 Nfhb mtw;wpy; Fiwe;jgl;rk; &gha; 300 Nfhb jq;fkhf  
c. &gha; 700 Nfhb mtw;wpy; Fiwe;jgl;rk; &gha; 400 Nfhb jq;fkhf  
d. &gha; 200 Nfhb mtw;wpy; Fiwe;jgl;rk; &gha; 115 Nfhb jq;fkhf  

 
148. The birth of economics of education was announced by 

A. Marshall  B. Karl Marx  C. Schultz  D. Keynes 

fy;tp gw;wpa nghUspaiy cUthf;fpath; 

A. khh;~y;   B. fhuy;khh;f;];  C. ];fy;l;]; D. fPd;R 
 
149. As per 2011 census the total urban population in the state of Tamil Nadu is 

a. 27.48 million   b. 34.95 million  
c. 36.04 million   d. 42.50 million 
2011 kf;fs; njhif fzf;nfLg;gpd; gb jkpo;ehl;by; efh;Gw kf;fs; njhif 
a. 27.48 kpy;ypad;   b. 34.95 kpy;ypad; 
c. 36.04 kpy;ypad;   d. 42.50 kpy;ypad; 

 
150. The literacy rate in India in 1991 was 

a. 75.85  b. 54.16  c. 65.38  d. 52.10  
,e;jpa vOj;jwpT tPjk; 1991 y; 
a. 75.85  b. 54.16  c. 65.38  d. 52.10 
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